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 CLASS : XII
 SESSION: 2023-24

MP-BOARD PATTERN QUESTION PAPER
SUBJECT: CHEMISTRY

Maximum Marks: 80           Time Allowed: 3 hours.
General Instructions: 

(i) All questions are compulsory.


(ii) Question No. 1 to 5 contain 28 question. All carry 1 marks. 6 Single correct, 6 Fill in the blank,
6 True / False, 5 Match the column, 5 one word



(iii) Question Nos 6 to 12 carry 2 marks each.


(iv) Question Nos 13 to 16 carry 3 marks each.


(v) Question Nos 17  to 20 carry 4 marks each.



SECTION - A
1. Choose the correct answer of the following :- (1 x 6)

   
1. Solution of similar osmotic pressure are known  as :

. 1.  Hypotonic 2.  Hypertonic 3. Isotonic 4. Normal

1.       

. 1.  2.  3.  4. 
2. k is equal to :

1.
A

l
2.

1 A
.

R l
3.

1 l
.

R A
4.

A

R

2. k 

. 1.
A

l
2.

1 A
.

R l
3.

1 l
.

R A
4.

A

R

3. For first order reaction value of t
1/2

 is :

1.
1

0.693

k 2.
1

2.303

k 3.
1

0.303

k 4.
0.693

t

3.   t
1/2
   

. 1.
1

0.693

k 2.
1

2.303

k 3.
1

0.303

k 4.
0.693

t

4. The I.U.P.A.C. name of [Ni(CO)
4
]

1.  Tetracarbonyl nickelate (0) 2.  Tetracarbonyl nickelate (II)
3. Tetracarbonyl nicket (0) 4.  Tetracarbonyl nicket (II)
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4. [Ni(CO)
4
]   

. 1.   (0) 2.   (II)

3.   (0) 4.   (II)
5. Most effective reagent which converts propanol-2 to propanone :

1. LiAlH
4

2. Cu / 300oC 3. CO
2

4. K
2
Cr

2
O

7

5.           

. 1. LiAlH
4

2. Cu / 300oC 3. CO
2

4. K
2
Cr

2
O

7

6. Which of the following gas is responsible for Bhopal gas tragedy in 1984.

1. 3CH N C  2. 3CH C N S  

3. CHCl
3

4. C
6
H

5
COCl

6.         

. 1. 3CH N C  2. 3CH C N S  

3. CHCl
3

4. C
6
H

5
COCl

2. Fill in the Blanks - (1 x 6)

 
1. By the oxidation of glucose __________ molecule of ATP are produced.

ATP______  
2. Ketones do not ________ tollen's reagent.

________  
3. 40% aqueous solution of formic acid is called __________.

40% ________ 
4. Pheonol on being heated with Zn powder forms ________

Zn   ________  
5. Zn shows only _______ oxidation state.

Zn _______  
6. Rate of reaction is ______ to the concentration of reactant.

    _______  
3. Write/True or False : (1 x 6)

 

1. Relation of G with electromotive force E is G = -nFE

G    (E) G = -nFE  
2. Sn2+, oxidizes Fe3+

Sn2+, Fe3+ 

3. Half life period for zero order reaction 1/2

1
t

a


   1/2

1
t

a
  

4. On heating idobenzene with copper powder at 200oC, product obtained is diphenyl

   200oC     
5. Methyl alcohol is a primary alcohol.

  
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6. All solutions obey Raoult's law.

     
4. Match the column : - (1 x 5)

Column - I Column - II
1. Elelctrical neutrality of both the half (a) Positive

cell is maintained

2. The Eo value of the half cell whose electrode (b) Negative

has less tendency to release electron than H
2

3 In the cell Zn |Zn2+||Cu2+|CuZn electrode is (c) Specific conductivity
4. Standard hydrogen electrode (d) Salt - bridge
5 Conductivity of 1 cm3 of a conductor. (e) Zero volt

4. Match the column : - (1 x 5)
Column - I Column - II

1.    (a) 

  

2.      (b) 

H
2
     

Eo  

3. Zn |Zn2+||Cu2+|CuZn   (c)  

4.    (d) 

5. 1cm3  (e)  
5. Write Answer in one word / sentence. (1 x 5)

  
1. Which compound is obtained on heating aromatic aldehyde with acid anhydride in the presence

sodium carboxylate?

      

   ?
2. Write the name of the condensation reaction of KCN in benzaldehyde.

KCN     
3. What is the nature of amines ?

  
4. What is nitrating mixture?

    
5. How many amino acids are synthesized by human body.

     

SECTION - B
6. Explain Cu+ is colourless while Cu+2 is coloured.

Cu+  Cu2+     [2]
Or

Why are Mn2+ compound more stable than Fe2+ towards oxidation to their +3 oxidation state ?

+3   Mn2+Fe2+    
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7. Among the isomeric alkanes of molecular formula C
5
H

12
 identify the one that on photochemical chlorination

yields :
(i) A single monochloride, (ii) Three isomeric monochlorides,
(iii) Four isomeric monochlorides.

C
5
H

12
          

[2]
(i)   (ii)     (iii)  

Or

Why is sulphuric acid not used during the reaction of alcohols with KI

KI      ?
8. Can you store copper sulphate solutions in a zinc pot?

        ? [2]
Or

Write the defination of electrochemical cell.

  

9. Give two example of non-ideal solution showing positive deviation.

        [2]
Or

Define molarity and molality.

   
10. Find out total order of following reaction whose rate expression :

(i) Velocity (Rate) 1/2 3/2k[A] [B] , (ii) Velocity (Rate) 3/2 1k[A] [B]

       [2]

(i)  1/2 3/2k[A] [B] , (ii)  3/2 1k[A] [B]

Or

Explain the rate determining step.

  

11. Write alternative form of Arrhenius equation.

  [2]
Or

Write the definition of Electrochemical cell.

    

12. Zinc (Zn) shows only +2 oxidation state. Why?

 (Zn) +2     [2]
Or

What are interstitial compound ? why are such compounds well knows for transition metals?

       ?
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SECTION - C
13. Ethyl alcohol and phenol both contain - OH group. What is the reason that phenol is acidic and alcohol has

alkaline effect ? [3]
    OH       

   ?
Or

Write the equation involved in the following reactions :

(i) Reimer - Tiemann reaction, (ii ) Kolbe-Schmidt's reaction

(iii) Phenol is heated with Zn powder

   

(i)   (ii )  

(iii) Zn   

14. Why aromatic primary amines cannot  be prepared by Gabriel phthalimide sysnthesis?

      ? [3]
Or

Write chemical reaction of Aniline with Benzoyl chloride and write the name of the product obtained.

         
15. Write the important structural and functional differences between DNA and RNA.

DNA RNA      [3]
Or

Differentiate between globular and Fibrous proteins.

 (Fibrous)    
16. Why is sulphuric acid not used during the reaction of alcohols with KI ?

KI      ? [3]
Or

Explain the following reaction of chlorobenezene :

(i) Reaction with chlorine in the presence of FeCl
3
 (Halogenation)

(ii) Fitting reaction.

    

(i) FeCl
3
     

(ii) 

SECTION - D
17. Write down the difference between compounds contaning aldehydic group and ketonic group.

       [4]
Or

Describe the following :
(i) Acetylation (ii) Cannizzaro reaction
(iii) Cross - aldol condensation (iv) Decarboxylation

     

(i)  (ii)  

(iii)   (iv) 



6/8

18. Distinguish among Primary, Secondary and Tertiary amines in any five points.

        [4]
Or

An aromatic compound 'A' on treatement with aqueous ammonia and heating forms compound 'B' which on
heating with Br

2
 and KOH forms a compound 'C' of molecular formula C

6
H

7
N. Write the structures and IUPAC

name of compounds A, B and C.

 'A'   'B' Br
2
 KOH  

C
6
H

7
N A, B CIUPAC

19.  Draw figure to show the splitting of d-orbitals in an octahedral crystal field.

   d -    [4]
Or

Write Victor - Meyer method of distinguish primary, secondary and tertiary alcohol.

          
20. Give chemical equation of the following : [4]

(i) Acetaldehyde from formaldehyde.
(ii) Formaldehyde from acetaldehyde.
(iii) Acetic acid from formic acid.

  

(i)    

(ii)    

(iii)  
Or

Write the difference between S
N
1 and S

N
2 reaction

S
N
1 S

N
2   

**********************


